J. of Ramanujan Society of Mathematics and Mathematical Sciences Vol. 10, No. 1 (2022), pp. 87-96

ISSN (Print): 2319-1023

NEW FUNCTIONAL RELATION FOR THE DILOGARITHM INVOLVING TWO VARIABLES

Jorge Luis Cimadevilla Villacrota and M. P. Chaudhary*

C/Alava, 15 1 D, 33210, Gijon, Asturias, SPAIN

E-mail: villacorta1968@hotmail.com

*International Scientific Research and Welfare Organization (Albert Einstein Chair Professor of Mathematical Sciences) New Delhi 110018, INDIA

E-mail: dr.m.p.chaudhary@gmail.com

(Received: Oct. 03, 2022 Accepted: Dec. 09, 2022 Published: Dec. 30, 2022)

Abstract: We establish new functional relations for the dilogarithm involving two variables, which adhere the properties of Polylogarithm. We also considered several closely-related identities such as (for example) polylogarithm (also known as Jonquière's function), Euler dilogarithm function and Clausen's function.

Keywords and Phrases: Polylogarithm; Dilogarithm identity or Spence's function; Clausen's function; Definite Integral.

2020 Mathematics Subject Classification: 11A05, 11Y16, 68Q25.

1. Introduction and Definitions

Alfre Jonquière introduced the concept of polylogarithm (also known as Jonquière's function) (see, for details [6]; [8]; [10]; and [20]), which is a special function represented as $Li_s(z)$ of order s and argument z. The polylogarithm reduces to an elementary function such as natural logarithm or rational functions for special values of s. The polylogarithm function appears as closed form of integrals such as Fermi-Dirac integral and Bose-Einstein integral (see [12] and [15]) etc. The polylogarithm of positive integer order arise in the calculation of processes represented by the Feynman diagrams; and it is also equivalent to Hurwitz Zeta function (see

[10]).

The polylogarithm function is defined by a power series in z, which is also a Dirichlet series in s:

$$\operatorname{Li}_{s}(z) := \sum_{n=1}^{\infty} \frac{z^{n}}{n^{s}} = z + \frac{z^{2}}{2^{s}} + \frac{z^{3}}{3^{s}} + \dots \quad |z| < 1.$$
 (1)

which can be extended to $|z| \ge 1$ by the method of analytic continuation. The particular case (s = 1) involves the natural logarithm, $\text{Li}_1(z) = -\log(1 - z)$; for s = 2 and s = 3, and are known as dilogarithm and trilogarithm, respectively (see [15]).

The Euler dilogarithm function (see, for details, [5]; [7] and [9]) is defined as:

$$\operatorname{Li}_{2}(x) := \sum_{n \ge 1} \frac{x^{n}}{n^{2}} = -\int_{0}^{x} \frac{\log(1-t)}{t} dt, \qquad 0 \le x \le 1.$$
 (2)

is one of the lesser transcendental function. It has many intriguing properties has appeared in various branches of mathematics and physics.

2. Main Theorems

In this section, we state and prove a new identity, which adhere the properties of Polylogarithm.

Theorem 1. The following relation holds true;

$$\sum_{n=1}^{\infty} \frac{b^n}{(1+b)^n} \frac{y^n}{n^2} + \sum_{n=1}^{\infty} (-1)^n \frac{b^n y^n}{n^2} + \sum_{n=1}^{\infty} \frac{b^n}{(1+b)^n} \frac{(1-y)^n}{n^2} + \sum_{n=1}^{\infty} (-1)^n \frac{b^n (1-y)^n}{n^2}$$

$$-\sum_{n=1}^{\infty} \frac{b^n}{(1+b)^n} \frac{1}{n^2} - \sum_{n=1}^{\infty} (-1)^n \frac{b^n}{n^2} = (-1)^n \sum_{n=1}^{\infty} \frac{b^{2n}}{(1+b)^n} \frac{y^n (1-y)^n}{n^2}; \quad b \neq 0, b \neq y.$$
(3)

Proof. In order to prove our result, we begin with basic identity;

$$(1+ax)(1+bx) = 1 + (a+b)x + abx^2$$

Consider a + b = -ab, after arrangements of terms, we obtain;

$$\frac{1}{(1 - \frac{bx}{1+b})} \frac{1}{(1+bx)} = \frac{1}{1 + \frac{b^2x(1-x)}{1+b}}.$$
 (4)

Applying the properties of logarithm function on both the sides of (4), after simplification we obtain the following series

$$\sum_{n=1}^{\infty} \frac{b^n}{(1+b)^n} \frac{x^n}{n} + \sum_{n=1}^{\infty} \frac{(-1)^n b^n x^n}{n} = \sum_{n=1}^{\infty} \frac{(-1)^n b^{2n} x^n (1-x)^n}{(1+b)^n n}.$$
 (5)

Multiply the right hand side of (5) with $\frac{(1-2x)}{x(1-x)}$; and after integrating between limits 0 and y, we arrived

$$\sum_{n=1}^{\infty} \frac{(-1)^n b^{2n}}{(1+b)^n n} \int_0^y x^{n-1} (1-x)^{n-1} (1-2x) dx = \sum_{n=1}^{\infty} \frac{(-1)^n b^{2n} y^n (1-y)^n}{(1+b)^n n^2}.$$
 (6)

We can write $\frac{(1-2x)}{x(1-x)} = \frac{1}{x} - \frac{1}{(1-x)}$. Let us multiply by $\frac{1}{x}$ in the left hand side of (5); and then integrate between the limits 0 to y, we obtained

$$\sum_{n=1}^{\infty} \frac{b^n}{(1+b)^n} \int_0^y \frac{x^{n-1}}{n} dx + \sum_{n=1}^{\infty} b^n \int_0^y \frac{(-1)^n x^{n-1}}{n} dx = \sum_{n=1}^{\infty} \frac{b^n y^n}{(1+b)^n n^2} + \sum_{n=1}^{\infty} \frac{(-1)^n b^n y^n}{n^2}.$$
(7)

When we replace $x \to (1-x)$ in (5), the right hand side is remain the same and we can be write

$$\sum_{n=1}^{\infty} \frac{b^n}{(1+b)^n} \frac{(1-x)^n}{n} + \sum_{n=1}^{\infty} \frac{(-1)^n b^n (1-x)^n}{n} = \sum_{n=1}^{\infty} \frac{(-1)^n b^{2n} x^n (1-x)^n}{(1+b)^n n}.$$
 (8)

Multiplying left hand side of (8) by $-\frac{1}{(1-x)}$, and integrate between limits 0 to y, we obtain

$$-\sum_{n=1}^{\infty} \frac{b^n}{(1+b)^n} \int_0^y \frac{(1-x)^{n-1}}{n} dx - \sum_{n=1}^{\infty} b^n \int_0^y \frac{(-1)^n (1-x)^{n-1}}{n} dx$$

$$= \sum_{n=1}^{\infty} \frac{b^n (1-y)^n}{(1+b)^n n^2} - \sum_{n=1}^{\infty} \frac{b^n}{(1+b)^n n^2} + \sum_{n=1}^{\infty} \frac{(-1)^n (1-y)^n b^n}{n^2} - \sum_{n=1}^{\infty} \frac{(-1)^n b^n}{n^2}. \tag{9}$$

with the help of (6)(7) and (8) we obtained our required identity (3). We thus have completed our proof of the Theorem 1.

Note. The equation (3) can be expressed in terms of the dilogarithm function as follows:

$$\operatorname{Li}_{2}\left(\frac{by}{1+b}\right) + \operatorname{Li}_{2}(-by) + \operatorname{Li}_{2}\left(\frac{b(1-y)}{(1+b)}\right) + \operatorname{Li}_{2}(-b(1-y))$$

$$-\operatorname{Li}_2\left(\frac{b}{(1+b)}\right) - \operatorname{Li}_2(-b) = \operatorname{Li}_2\left(-\frac{b^2y(1-y)}{(1+b)}\right).$$

3. Analysis of Theorem 1.

In order to analyse identity (3) as given in Theorem 1, we split it into parts. First of all we analyse the part $\sum_{n=1}^{\infty} \frac{b^n}{(1+b)^n} \frac{y^n}{n^2} + \sum_{n=1}^{\infty} (-1)^n \frac{b^n y^n}{n^2}$, in this way, multiply it by $y^{\mu-1}$ ($\mu \neq 1$) and then integrate between the limits 0 and 1, finally we obtain:

$$\int_{0}^{1} \sum_{n=1}^{\infty} \frac{b^{n}}{(1+b)^{n}} \frac{y^{n+\mu-1}}{n^{2}} dy + \int_{0}^{1} \sum_{n=1}^{\infty} (-1)^{n} b^{n} \frac{y^{n+\mu-1}}{n^{2}} dy$$

$$= \sum_{n=1}^{\infty} \frac{b^{n}}{(1+b)^{n} n^{2}} \int_{0}^{1} y^{n+\mu-1} dy + \sum_{n=1}^{\infty} \frac{(-1)^{n} b^{n}}{n^{2}} \int_{0}^{1} y^{n+\mu-1} dy$$

$$= \sum_{n=1}^{\infty} \frac{b^{n}}{(1+b)^{n}} \frac{1}{n^{2}(n+\mu)} + \sum_{n=1}^{\infty} \frac{(-1)^{n} b^{n}}{n^{2}} \frac{1}{(n+\mu)}$$

$$= \sum_{n=1}^{\infty} \frac{b^{n}}{(1+b)^{n}} \frac{1}{n^{3}(1+\frac{\mu}{n})} + \sum_{n=1}^{\infty} (-1)^{n} \frac{b^{n}}{n^{3}(1+\frac{\mu}{n})}.$$
(10)

Now, we study the sum of the series $\sum_{n=1}^{\infty} \frac{b^n}{(1+b)^n} \frac{(1-y)^n}{n^2} + \sum_{n=1}^{\infty} (-1)^n \frac{b^n(1-y)^n}{n^2}$, multiply by $y^{\mu-1}$; and integrate with respect to y between limits 0 to 1, we have;

$$\sum_{n=1}^{\infty} \frac{b^n}{(1+b)^n} \frac{1}{n^2} \int_0^1 y^{\mu-1} (1-y)^n dy + \sum_{n=1}^{\infty} \frac{(-1)^n b^n}{n^2} \int_0^1 y^{\mu-1} (1-y)^n dy$$

$$= \sum_{n=1}^{\infty} \frac{b^n}{(1+b)^n} \frac{1}{n^2} \frac{n!}{\mu(\mu+1)(\mu+2)\cdots(\mu+n)} + \sum_{n=1}^{\infty} \frac{(-1)^n b^n}{n^2} \frac{n!}{\mu(\mu+1)(\mu+2)\cdots(\mu+n)}$$

$$= \sum_{n=1}^{\infty} \frac{b^n}{(1+b)^n} \frac{1}{n^2} \frac{1}{\mu(1+\mu)(1+\frac{\mu}{2})\cdots(1+\frac{\mu}{n})} + \sum_{n=1}^{\infty} \frac{(-1)^n b^n}{n^2} \frac{1}{\mu(1+\mu)(1+\frac{\mu}{2})\cdots(1+\frac{\mu}{n})}.$$
(11)

Further, we the sums of the series $-\{\sum_{n=1}^{\infty} \frac{b^n}{(1+b)^n} \frac{1}{n^2} + \sum_{n=1}^{\infty} (-1)^n \frac{b^n}{n^2} \}$, multiply by $y^{\mu-1}$; and integrate with respect to y between limits 0 to 1, we have;

$$-\left\{\sum_{n=1}^{\infty} \frac{b^n}{(1+b)^n} \frac{1}{n^2} \int_0^1 y^{\mu-1} dy + \sum_{n=1}^{\infty} (-1)^n \frac{b^n}{n^2} \int_0^1 y^{\mu-1} dy\right\} - \left\{\sum_{n=1}^{\infty} \frac{b^n}{(1+b)^n} \frac{1}{\mu \cdot n^2} + \sum_{n=1}^{\infty} (-1)^n \frac{b^n}{\mu \cdot n^2}\right\}.$$
 (12)

At last, we study the sum of the series at the right hand side $\sum_{n=1}^{\infty} \frac{b^{2n}}{(1+b)^n} \frac{y^n(1-y)^n}{n^2}$, multiply by $y^{\mu-1}$; and integrate with respect to y between limits 0 to 1, we have;

$$\sum_{n=1}^{\infty} \frac{b^{2n}}{(1+b)^n} \frac{1}{n^2} \int_0^1 y^{n+\mu-1} (1-y)^n dy = \sum_{n=1}^{\infty} \frac{b^{2n}}{(1+b)^n} \frac{1}{n^2} \frac{(\mu+n)! n!}{(\mu+2n+1)}$$

$$= \sum_{n=1}^{\infty} \frac{b^{2n}}{(1+b)^n} \frac{1}{n^2} \frac{n!}{(\mu+n)(\mu+n+1)\cdots(\mu+2n)}$$

$$= \sum_{n=1}^{\infty} \frac{b^{2n}}{(1+b)^n} \frac{1}{n^3} \frac{1}{(1+\frac{\mu}{n})(1+\frac{\mu}{(n+1)})\cdots(1+\frac{\mu}{2n})}.$$
(13)

Combining identities (10)-(13) together, we have;

$$\sum_{n=1}^{\infty} \frac{b^n}{(1+b)^n} \frac{1}{n^2} \frac{1}{\mu(1+\mu)(1+\frac{\mu}{2})\cdots(1+\frac{\mu}{n})} + \sum_{n=1}^{\infty} \frac{(-1)^n b^n}{n^2} \frac{1}{\mu(1+\mu)(1+\frac{\mu}{2})\cdots(1+\frac{\mu}{n})} + \sum_{n=1}^{\infty} \frac{b^n}{(1+b)^n} \frac{1}{n^3(1+\frac{\mu}{n})} + \sum_{n=1}^{\infty} (-1)^n \frac{b^n}{n^3(1+\frac{\mu}{n})} - \sum_{n=1}^{\infty} \frac{b^n}{(1+b)^n} \frac{1}{\mu \cdot n^2} + \sum_{n=1}^{\infty} (-1)^n \frac{b^n}{\mu \cdot n^2} = \sum_{n=1}^{\infty} \frac{b^{2n}}{(1+b)^n} \frac{1}{n^3} \frac{1}{(1+\frac{\mu}{n})(1+\frac{\mu}{(n+1)})\cdots(1+\frac{\mu}{2n})}.$$
(14)

We can develop (3) into series of $O(\mu^n)$ coefficients, upon analysing each term, we obtain an infinite set of polylogarithm's identities. Further, we obtain a series of $O(\mu^0)$ coefficients, as;

$$\sum_{n=1}^{\infty} (-1)^n \frac{a^{2n}}{(1+a)^n n^3 \cdot 2^n c_n} = \sum_{n=1}^{\infty} \frac{a^n}{n^3 (1+a)^n} + \sum_{n=1}^{\infty} (-1)^n \frac{a^n}{n^3} - \sum_{n=1}^{\infty} (-1)^n \frac{a^n}{n^2} \left\{ 1 + \frac{1}{2} \cdot \dots + \frac{1}{n} \right\} - \sum_{n=1}^{\infty} \frac{a^n}{(1+a)^n n^2} \left\{ 1 + \frac{1}{2} \cdot \dots + \frac{1}{n} \right\}.$$
(16)

4. Further Result to the Theorem 1.

We begin with our main result (theorem 1) of section 2. Let us multiply in the right hand side of equation (3) by $\frac{1-2y}{y(1-y)} = \frac{1}{y} - \frac{1}{(1-y)}$ and then integrate between limits 0 and t, we obtain following;

$$\sum_{n=1}^{\infty} \frac{b^{2n}(-1)^n}{(1+b)^n n^2} \int_0^t \frac{y^n (1-y)^n (1-2y)}{y(i-y)} dy = \sum_{n=1}^{\infty} \frac{b^{2n}(-1)^n}{(1+b)^n n^2} \int_0^t y^{n-1} (1-y)^{n-1} (1-2y) dy$$

$$=\sum_{n=1}^{\infty} \frac{(-1)^n b^{2n}}{n^2 (1+b)^n} \frac{t^n (1-t)^n}{n^3}.$$
 (16)

Now, we multiply in the left hand side of equation (3) by $\frac{1}{u}$, upon integrating between limits 0 and t, we obtain;

$$\sum_{n=1}^{\infty} \frac{b^n}{(1+b)^n n^2} \int_0^t y^{n-1} dy + \sum_{n=1}^{\infty} (-1)^n \frac{b^n}{n^2} \int_0^t y^{n-1} dy + \sum_{n=1}^{\infty} \frac{b^n}{(1+b)^n n^2} \int_0^t \frac{(1-y)^n - 1}{y} dy$$

$$+ \sum_{n=1}^{\infty} \frac{(-1)^n b^n}{n^2} \int_0^t \frac{(1-y)^n - 1}{y} dy$$

$$= \sum_{n=1}^{\infty} \frac{b^n}{(1+b)^n} \frac{t^n}{n^3} + \sum_{n=1}^{\infty} \frac{(-1)^n b^n}{n^3} - \left(\sum_{n=1}^{\infty} \frac{b^n}{(1+b)^n n^2} + \sum_{n=1}^{\infty} \frac{(-1)^n b^n}{n^2}\right) \int_0^t \sum_{i=0}^{(n-1)} (1-y)^i dy$$

$$= \sum_{n=1}^{\infty} \frac{b^n}{(1+b)^n} \frac{t^n}{n^3} + \sum_{n=1}^{\infty} \frac{(-1)^n b^n}{n^3} + \left(\sum_{n=1}^{\infty} \frac{b^n}{(1+b)^n n^2} + \sum_{n=1}^{\infty} \frac{(-1)^n b^n}{n^2}\right) \sum_{i=0}^n \frac{(1-t)^i}{i}$$

$$-\left(\sum_{n=1}^{\infty} \frac{b^n}{(1+b)^n n^2} + \sum_{n=1}^{\infty} \frac{(-1)^n b^n}{n^2}\right) \sum_{i=0}^n \frac{1}{i}.$$
(17)

1.
$$\frac{(1-y)^n-1}{y} = \frac{[(1-y)-1][\sum_{i=0}^{n-1}(1-y)^i]}{y} = -\sum_{i=0}^{n-1}(1-y)^i;$$

2.
$$\sum_{i=0}^{n-1} \int_0^t (1-y)^i dy = -\sum_{i=0}^{n-1} \int_1^{1-t} x^i dx = -\sum_{i=0}^{n-1} \left[\frac{(1-t)^{i+1}}{1+i} - \frac{1}{1+i} \right].$$

Remark: In order to establish (17), we use following results; 1. $\frac{(1-y)^{n}-1}{y} = \frac{[(1-y)-1][\sum_{i=0}^{n-1}(1-y)^{i}]}{y} = -\sum_{i=0}^{n-1}(1-y)^{i};$ 2. $\sum_{i=0}^{n-1}\int_{0}^{t}(1-y)^{i}dy = -\sum_{i=0}^{n-1}\int_{1}^{1-t}x^{i}dx = -\sum_{i=0}^{n-1}[\frac{(1-t)^{i+1}}{1+i} - \frac{1}{1+i}].$ Further, multiply the left hand side of equation (3) by $-\frac{1}{1-y}$, and integrate between limits 0 and t, we obtain;

$$-\sum_{n=1}^{\infty} \frac{b^n}{(1+b)^n} \int_0^t \frac{y^n}{1-y} dy - \sum_{n=1}^{\infty} (-1)^n \frac{b^n}{n^2} \int_0^t \frac{y^n}{1-y} dy - \sum_{n=1}^{\infty} \frac{b^n}{(1+b)^n n^2} \int_0^t (1-y)^{n-1} dy$$

$$-\sum_{n=1}^{\infty} \frac{(-1)^n b^n}{n^2} \int_0^t (1-y)^{n-1} dy + \sum_{n=1}^{\infty} \frac{b^n}{(1+b)^n n^2} \int_0^t \frac{1}{1-y} dy + \sum_{n=1}^{\infty} (-1)^n \frac{b^n}{n^2} \int_0^t \frac{1}{1-y} dy$$

$$= \sum_{n=1}^{\infty} \frac{b^n}{(1+b)^n n^2} \sum_{i=1}^n \frac{t^i}{i} + \sum_{n=1}^{\infty} (-1)^n \frac{b^n}{n^2} \sum_{i=1}^n \frac{t^i}{i} + \sum_{n=1}^{\infty} \frac{b^n (1-t)^n}{(1+b)^n n^3} + \sum_{n=1}^{\infty} \frac{(-1)^n b^n (1-t)^n}{n^3}$$

$$-\sum_{n=1}^{\infty} \frac{b^n}{(1+b)^n n^3} - \sum_{n=1}^{\infty} (-1)^n \frac{b^n}{n^3}.$$
(18)

using
$$\int_0^t \frac{y^n}{1-y} dy = \int_0^t \sum_{i=n}^\infty y^i dy = L n \frac{1}{1-t} - \sum_{i=1}^n \frac{t^i}{i}$$
.

Now combining (16), (17) and (18), we obtain following result corresponding to the main result (3) of our theorem 1;

$$\sum_{n=1}^{\infty} \frac{b^n t^n}{(1+b)^n n^3} + \sum_{n=1}^{\infty} \frac{(-1)^n b^n t^n}{n^3} + \left(\sum_{n=1}^{\infty} \frac{b^n}{(1+b)^n n^2} + \sum_{n=1}^{\infty} \frac{(-1)^n b^n}{n^2}\right) \sum_{i=1}^n \frac{(1-t)^i}{i}$$

$$-\left(\sum_{n=1}^{\infty} \frac{b^n}{(1+b)^n} \frac{1}{n^2} + \sum_{n=1}^{\infty} \frac{(-1)^n b^n}{n^2}\right) \sum_{i=1}^n \frac{1}{i} + \left(\sum_{n=1}^{\infty} \frac{b^n}{(1+b)^n} \frac{1}{n^2} + \sum_{n=1}^{\infty} \frac{(-1)^n b^n}{n^2}\right) \sum_{i=1}^n \frac{t^i}{i}$$

$$+ \sum_{n=1}^{\infty} \frac{b^n (1-t)^n}{(1+b)^n n^3} + \sum_{n=1}^{\infty} \frac{(-1)^n b^n (1-t)^n}{n^3} - \sum_{n=1}^{\infty} \frac{b^n}{(1+b)^n n^3} - \sum_{n=1}^{\infty} \frac{(-1)^n b^n}{n^3}$$

$$= \sum_{n=1}^{\infty} \frac{(-1)^n b^{2n}}{(1+b)^n} \frac{t^n (1-t)^n}{n^3}.$$
(19)

5. Concluding Remarks and Observations

The present investigation was motivated by several recent developments dealing essentially with dilogarithm and polylogarithm (for example see [3] and [16]). Here, in this article, we have established presumably a set of new identities. We have also considered several closely-related identities such as (for example) polylogarithm (also known as Jonquière's function) and Euler dilogarithm function etc. We have chosen to indicate rather briefly a number of recent developments on the subject-matter of this article.

Acknowledgements

The research work of M. P. Chaudhary is supported through a major research project of National Board of Higher Mathematics (NBHM) of the Department of Atomic Energy (DAE), Government of India by its sanction letter Ref. No. 02011/12/2020 NBHM(R.P.)/R D II/7867, dated 19th October 2020.

References

- [1] Andrews G. E., Multiple series Rogers-Ramanujan type identities, Pacific J. Math., 114 (1984), 267-283.
- [2] Bressoud D., An easy proof of the Rogers-Ramanujan identities, J. Number Theory., 16 (1983), 235-241.
- [3] Campbell J. M., Special values of Legendre's chi-function and the inverse tangent integral, Iris Math. Soc. Bulletin, 89 (2022), 17-23.

- [4] Chaudhary M. P. and Villacorta Jorge Luis Cimadevilla, Representations of certain theta function identities in terms of combinatorial partition identities, Far East J. Math. Sci., 102 (2017), 1605-1611.
- [5] Euler L., Universal Arithmetic, 1 (1768), unpublished.
- [6] Jonquière A., Note sur la sèrie $\sum_{n=1}^{\infty} \frac{x^n}{n^s}$, Bulletin de la Sociètè Mathématique de France (in French). 17 (1889), 142-152.
- [7] Kirillov A. N., Dilogarithm identities, Progress of Theor. Phys. Suppl., 118 (1995), 61-142.
- [8] Lewin L., Polylogarithms and Associated Functions, New Holland, New York, 1981.
- [9] Maximon L. C., The Dilogarithm Function for Complex Argument, Proc. Royal Soc. Ser. A., 459 (2003), 2807-2819.
- [10] Milnor J., On polylogarithms, Hurwitz zeta-function, and the Kubert identities, Enseign. Math., 29 (1983), 281-322.
- [11] Paule P., On identities of the Rogers-Ramanujan type, J. Math. Anal. Appl., 107 (1985), 255-284.
- [12] Robinson J. E., Note on the Bose-Einstein integral functions, Phys. Review. Ser. 2., 83 (3) (1951), 678-679.
- [13] Roger L. J., On function sum theorems connected with the series $\sum_{n=1}^{\infty} \frac{x^n}{n^2}$, Proc. London Math. Soc., 4 (1907), 169-189.
- [14] Slater L. J., Further identities of the Rogers-Ramanujan type, Proc. London Math. Soc., 54 (1951), 147-167.
- [15] Stewart S. M., Blackbody radiation functions and polylogarithms, J. Quant. Spectrose. Radiat. Transf., 113 (2012), 232-238.
- [16] Stewart S. M., Some simple proofs of Lima's two-term dilogarithm identity, Irish Math. Soc. Bulletin, 89 (2022), 43-49.
- [17] Watson G. N., A new proof of the Rogers-Ramanujan identities, J. London Math. Soc., 4 (1929), 4-9.

- [18] Zagier D., The remarkable dilogarithm, J. Math. Phys. Sci., 22 (1988), 131-145.
- [19] Zagier D., The remarkable dilogarithm (number theory and related topics), Papers presented at the Ramanujan colloquium, Bombay, 1988, TIFR. (also appeared as "The remarkable dilogarithm" in J. Math.Phys. Sci., 22 (1988), 131-145).
- [20] Zagier D., Polylogarithms, Dedekind zeta-functions and the algebraic K-theory of fields, in Arithmetic Algebraic Geometry, Birkhauser, G. van der Geer e.a. (eds), 89 (1991), 391-430.